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QUESTION 1

Which one of the following SAS SORT procedure options eliminates identical consecutive observations?
A. NODUP

B. UNIQUE

C. DISTINCT

D. NODUPKEY

Correct Answer: A

QUESTION 2

Which one of the following statements is true?

A. The WHERE statement can be executed conditionally as part of an IF statement.

B. The WHERE statement selects observations before they are brought into the PDV.

C. The subsetting IF statement works on observations before they are read into the PDV.

D. The WHERE and subsetting IF statements can be used interchangeably in all SAS programs.

Correct Answer: B

QUESTION 3

Given the following SAS data sets ONE and TWO:

ONE TWO NUM CHAR1 NUM CHAR2

1A12X1

1A22X2

2B13Y

2B25V

4D

The following SAS program is submitted creating the output table THREE:
proc sql;

create table three as
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select one.num, charl, char2

from one, two

where one.num = two.num;

quit;

THREE

NUM CHAR1 CHAR2

2B1X12B1X22B2X12B2X2

Which one of the following DATA step programs creates an equivalent SAS data set THREE?
A. data three; merge one two; by num; run;

B. data three; set one; set two; by num; run;

C. data three;C.data three; merge one (in = inl) two (in = in2); by num;
if in1 and in2;

run;

D. data three;D.data three; set one; do i = 1 to numobs; set two(rename = (hum = num2)) point = i nobs = numobs; if
num2 = num then output; end; drop num2; run;

Correct Answer: D

QUESTION 4

The following SAS program is submitted:

%let var = chicago, 1;

data a;

var = \\'new york, 2\\;

newvar = %scan(andvar,2,%str());

run;

Which one of the following explains why the program fails to execute?
A. The %STR() is invalid syntax.

B. The %SCAN function does not exist.

C. The %SCAN function has too many arguments.
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D. The macro variable VAR does not get created properly.

Correct Answer: C

QUESTION 5

Which one of the following techniques concatenates data in SAS?
A. the APPEND procedure

B. the DATA step with a MERGE statement

C. the DATA step with a COMBINE statement

D. the INTERSECT operator in the SQL procedure

Correct Answer: A
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